Umkehrfunktionen Losungen—+

Aufgabe 1
fry=2+4+3
r=y+3
fliy=2-3
Aufgabe 2
fry=3x-5
rT=3y—0>5

-1, _ 1 5
f .y—gx—i‘g

Aufgabe 3
fry=—x
T =y

f':y=—z (Involution)

Aufgabe 4
fry=—z+4
r=—-y+4

f'iy=—-2+4 (Involution)

Aufgabe 5
f:y:—§$—|-8
r=—3y+8
3r=—-2y+24
2= —-3x+24

. y:—%x+12

Priifungsvorbereitung



Aufgabe 6

fry=2>+1
r=9>+1
y2::7c—1

fliy=vr—1

Aufgabe 7

fry= 22+ 20+ 7
=y +2y+7
r=y’+2y+1°—1°+7 (quadratische Erginzung)
r=(y+1)*+6

(y+1)°=2-6
y+1=++vx—6 (wihle positiven Teil)
f_lz Yy = Vi—6-1
Aufgabe 8

fry=a®>—6x+1
r=y'—6y+1
r=19—6y+(—3)" - (-3)+1 (quadratische Erginzung)
z=(y+(-3))* -8
(y—3)*=z+8
y —3==4vx+8 (wihle positiven Teil fiir x > 3)

fhy=vVe+8+3
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f(5)=5"—6-54+1=—-4 = f(-4)=v—-4+8+3=2+3=75 (oberere Teil)

f()=12-6-1+1=—-4 = f1-4)=—V—-4+8+3=-2+3=1 (unterer Teil)



Aufgabe 9

fry=a"+4x
r =2 +4y

r=y? 44y + 27 — 27
x=(y+2)° -4

(y+2)°=z+4

(quadratische Ergénzung)

y+2==+vVr+4 (wihle positiven Teil)
f_lz Yy = Vr+4+2

Aufgabe 10
fry=2a’
r=1°

[y = Ve =at

Aufgabe 11
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Aufgabe 12

(Involution)

(Involution)



Aufgabe 13

1

f'y_:v—l

1

r=—-

y—1
z(y—1)=1
1
y—1l=-
x
1

flhiy=-+1
x
Aufgabe 14

r+1
fry=

Xz

y+1

r=—

Y

ry=y+1
ry—y=1
yl—1)=ua
L, 2

foy z—1
Aufgabe 15

x4+ 2

fry=-—"

$_y+2

=1

zy—1)=y+2
Yy —x=y+2
Ty —y=x+2
ylx—1)=xz+2

T+ 2
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(Involution)



Aufgabe 16

(a) y y=z (b Y y=ux
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Aufgabe 17

(a) Y Gry=ux (b) Y G y==2a
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Aufgabe 18
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